[ Efficiency vs vertpos |
- 0.2

20.18F
‘g o
2 0.16F
O -
§0.14f
[

£0.12 . . '
(oI e LR RERERED Froeeeneesd B

0.08F -+ P Feeeeeeeeen e
(00]] ETTTTTRR PP [RRPPIT R
: 5 e
0.04f-------- B R R
E : : -
0.02f - rgreeceivsrenenee: ST SRR R SR
Ehad Yk g e :

o ok e ot tVOETY SOOI SO
T i HN !

m -+

o
©

|||||||Q|H|||
]
!
+
¢.‘{
Tt
.::;;
——
E:l
i
_';':H'_
g
e

o
©

1

[EnN
2
N
=
o
N

10 0?
TP vertr (cr%)

MKFT_NEWBASES

|_mkFit_new

_mkFit_newANDPL
mKkFit_newiOKKK

<4

DQ
DQ
Efficiend —— B3

N ffi 'é'-.l] ' '+.'| III T i i
L
T

—

[ Efficiency vs. sim PV z |
~n 0.2
> o
Q. 0.18f
c o
7 0.16
20.14
z
c0.12
0.1
0.08F
0.06F
0.04F

0.02F

efticie

1.0

RS 3 :

— r -

< o :

o | e i o iR
E +
. .4 b ) A

o
©
al
3
4

o
©
TTTT

10 15 20
Sim. PV z (cm)

|
NS

o

| : :

[ S A R
(6)] g o
|

[B=N

o



	Contents
	Page 1


